


Statements:
Some circles are not triangle.
Only a few squares are triangle.
No rhombus is squares.
Conclusions:
I. All rhombus being triangle is a possibility.
II. Some squares can never be circles.

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.



Statements:
Only summer is hot.
Only a few summer is rainy.
Some winter is rainy.
Conclusions:
I. All hot can be winter.
II. Some rainy is not summer.

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.



Statements:
All bus is train.
Only a few bikes are train.
Some bikes is not car.
Conclusions:
I. All bus being car is a possibility.
II. No bus is bikes.

(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.



Statements:
No chocolates are biscuits.
Only a few biscuits are chips.
Some chips are juices.
Conclusions:
I. Some biscuits are juices.
II. No biscuits are juices.
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.



In a certain code language
‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kl’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘opposite’ as per the given 
code language?
(a) ap
(b) gi
(c) mn
(d) as
(e) None of these



In a certain code language
‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kl’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘same’ as per the given code 
language?
(a) ap
(b) sw
(c) mn
(d) as
(e) None of these



In a certain code language
‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kl’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘case’ as per the given code 
language?
(a) gi
(b) sw
(c) kl
(d) as
(e) None of these



In a certain code language
‘work just not done’ is coded as ‘ds gi nj hq’
‘work same and equal’ is coded as ‘gi sw as xz’
‘same case just opposite’ is coded as ‘sw ds ap kl’
‘not opposite but equal’ is coded as ‘mn ap nj as’

What is the code of ‘equal work’ as per the given 
code language?
(a) gi ds
(b) sw kl
(c) as gi
(d) as sw
(e) None of these



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 



चौदह व्यक्ति अर्थात. A, B, C, D, P, Q, R, S, K, L, M, N, Y 
और Z दो समथनथांतर पांक्तियो ां में (लेकिन जरूरी नही ां कि इसी
क्रम में हो ां) इस प्रिथर बैठें कि सथत व्यक्ति बैठें । हर एि पांक्ति।
A, B, P, Q, K, L और Y पांक्ति 1 में बैठे हैं और उत्तर िी ओर
मुख िरिे बैठे हैं जबकि C, D, R, S, M, N और Z पांक्ति 2 में
बैठे हैं और दकिण िी ओर मुख िरिे बैठे हैं। पांक्ति 1 में बैठे
व्यक्ति पांक्ति 2 में बैठे व्यक्तियोां िे ठीि किपरीत बैठे हैं। Y, Z िे
कििणातः किपरीत बैठथ है। Z और R िे बीच एि व्यक्ति बैठथ है।
M िे दथईां ओर बैठने िथले व्यक्तियोां िी सांख्यथ समथन है। B, R 
िी ओर मुख िरने िथले व्यक्ति िे दथईां ओर दूसरे स्र्थन पर
बैठतथ है। B और Q िे बीच तीन व्यक्ति बैठते हैं। C, Q िे
कििणातः किपरीत बैठतथ है। C और D कनिटतम पडोसी हैं। N 
िथ मुख K िी ओर है.



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 
Who among the following faces S?
(a) P
(b) L
(c) A
(d) B
(e) None of these



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 
Who among the following sits third to the left of L?
(a) Q
(b) A
(c) P
(d) K
(e) Y



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 
What is the position of M with respect to D?
(a) Immediate right
(b) Immediate left
(c) Third to the left
(d) Second to the left
(e) Second to the right



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 
Who among the following sits fourth to the right of the 
one who faces Z?
(a) Y
(b) P
(c) K
(d) L
(e) B



Fourteen persons viz. A, B, C, D, P, Q, R, S, K, L, M, N, 
Y and Z sit in two parallel rows (but not necessarily in 
the same order) in such a way that seven persons sit 
in each row. A, B, P, Q, K, L and Y sit in row 1 and face 
north while C, D, R, S, M, N and Z sit in row 2 and face 
south. The persons in row 1 sit exactly opposite to the 
persons sit in row 2. Y sits diagonally opposite to Z. 
One person sits between Z and R. P faces R and sits 
immediate right of A. The number of persons sit 
between Y and A is same as the number of persons sit 
to the right of M. B sits second to the right of the one 
who faces R. Three persons sit between B and Q. C 
sits diagonally opposite to Q. C and D are immediate 
neighbours. N faces K. 
Four among the following five are alike in a certain 
way and related to a group, who among the following 
does not belong to the group?
(a) Z
(b) C
(c) Q
(d) R
(e) Y



Statements:
A > B ≤ C; B = D; E ≤ F ≤ D
Conclusions:
I. E = C 
II. C > E
III. A < D 
IV. F > B

A. None is true.
B. Only IV is true.
C. Either I or II follows.
D. Both I and IV follow.
E. All are true.



Statements:
D > O ≤ M = I < N; I > A ≥ T > E
Conclusions:
I. M > E 
II. O < T
III. N > A 
IV. D = E

A. None is true.
B. Only IV is true.
C. Either I or II follows.
D. Both I and IV follow.
E. All are true



Statements:
P = Q ≥ R; Q ≥ S > T; U < R
Conclusions:
I. P ≥ S 
II. Q > U
III. P = T 
IV. R > P

A. None is true.
B. Only IV is true.
C. Either I or II follows.
D. Both I and IV follow.
E. All are true.



Statements:
I ≥ J = K < L; M ≤ J; N < K
Conclusions:
I. M ≤ I 
II. N < L
III. I > L 
IV. J = N

A. None is true.
B. Only IV is true.
C. Either I or II follows.
D. Both I and IV follow.
E. All are true.



Statements:
I ≥ J = K < L; L > M ≥ N; I < O
Conclusions:
I. O > L 
II. N > L
III. I > M 
IV. J < N

A. None is true.
B. Only IV is true.
C. Either I or II follows.
D. Both I and IV follow.
E. All are true.



84 LAST 67 CRAB 78 NEWS 89 ROSE 76 UNDO

If the digits of the word that is starting with 
consonant and ending at a consonant are to be 
multiplied within the number while the digits of the 
rest words are to be added within the number then 
the words are arranged according to ascending 
order of the number from left to right end then what 
would be the 11th letter from left end?
व्यांजन से आरांभ होने िथले और व्यांजन पर समथप्त होने िथले
शब्द िे अांिो ां िो सांख्यथ में गुणथ िरनथ हो और शेष शब्दोां िे
अांिो ां िो सांख्यथ में जोडनथ हो तो शब्दोां िो सांख्यथ िे आरोही
क्रम में व्यिक्तस्र्त कियथ जथतथ है। बथयें से दथयें कसरे से तो बथयें
छोर से 11िथां अिर क्यथ होगथ?

A. A 
B. D
C. S 
D. W
E. T



84 LAST 67 CRAB 78 NEWS 89 ROSE 76 UNDO

If all the letters which are attached to an odd 
number are reversed and all the letters which 
are attached to an even number are changed to 
their succeeding letter then how many letters in 
the new sequence will appear exactly twice?
यकद एि किषम सांख्यथ से जुडे सभी अिरो ां िो उलट कदयथ
जथए और एि सम सांख्यथ से जुडे सभी अिरो ां िो उनिे
बथद िे अिर में बदल कदयथ जथए, तो नए क्रम में कितने
अिर ठीि दो बथर कदखथई देंगे?

A. Two 
B. Three
C. Four 
D. Five
E. Seven



84 LAST 67 CRAB 78 NEWS 89 ROSE 76 UNDO

If a meaningful word is to be formed using the 
letters of words separately (using each letter only 
once), given that the second letter of newly formed 
word  must be a vowel then what would be the total 
sum of the digits of the numbers attached to those 
words which follow the condition given?
यकद शब्दोां िे अिरो ां िो अलग-अलग (प्रते्यि अिर िथ िेिल
एि बथर प्रयोग िरिे) एि सथर्ाि शब्द बनथनथ है, यह देखते
हुए कि निगकठत शब्द िथ दूसरथ अिर एिस्वर होनथ चथकहए, 
तो इससे जुडी सांख्यथओां िे अांिो ां िथ िुल योग क्यथ होगथ? िे
शब्द जो दी गई शता िथ पथलन िरते हैं?
A. 29 
B. 24
C. 20 
D. 33
E. 38



In a family of some people, B is the daughter 
of D and married to C who is the father of H. 
E is the daughter-in-law of D. G is the 
grandson of F who has only one child E. P 
has only two children and she is the wife of 
D. J is the maternal uncle of H. M is the 
cousin of G.
िुछ लोगो ां िे पररिथर में, B, D िी पुत्री है और C से
कििथकहत है जो H िथ कपतथ है। E, D िी बहू है। G, F 
िथ पोतथ है, कजसिथ िेिल एि बच्चथ E है। P िथ है
िेिल दो बचे्च हैं और िह D िी पत्नी है। J, H िथ मथमथ
है। M, G िथ िकजन है।



In a family of some people, B is the daughter 
of D and married to C who is the father of H. 
E is the daughter-in-law of D. G is the 
grandson of F who has only one child E. P 
has only two children and she is the wife of 
D. J is the maternal uncle of H. M is the 
cousin of G.
How is M related to E?
a) Nephew 
b) Aunty
c) Niece 
d) Sister
e) Cannot be determined



In a family of some people, B is the daughter 
of D and married to C who is the father of H. 
E is the daughter-in-law of D. G is the 
grandson of F who has only one child E. P 
has only two children and she is the wife of 
D. J is the maternal uncle of H. M is the 
cousin of G.
How is P related to J?

a) Son 
b) Mother
c) Grandfather
d) Father
e) Grandson



In a family of some people, B is the daughter 
of D and married to C who is the father of H. 
E is the daughter-in-law of D. G is the 
grandson of F who has only one child E. P 
has only two children and she is the wife of 
D. J is the maternal uncle of H. M is the 
cousin of G.
How is G related to D?

a) Son 
b) Brother
c) Grandson 
d) Granddaughter
e) Grandfather



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
आठ बॉक्स अर्थात M, N, O, P, Q, R, S और T एि िे
ऊपर एि रखे गए हैं लेकिन जरूरी नही ां कि इसी क्रम में
हो ां। M और T िे बीच तीन बॉक्स रखे गए हैं। M यथ तो
सबसे ऊपर यथ सबसे नीचे रखथ गयथ है। बॉक्स O, बॉक्स
N िे ठीि ऊपर रखथ गयथ है। बॉक्स S, बॉक्स T िे ठीि
नीचे रखथ गयथ है। R और S िे बीच दो बॉक्स रखे गए हैं।
M और R िे बीच दो से अकिि बॉक्स नही ां रखे गए हैं। O 
िे बीच तीन से अकिि बॉक्स रखे गए हैं। और पी।



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
Which of the following box is placed third from 
the bottom?
(a) S
(b) Q
(c) O
(d) R
(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
How many boxes are placed between O and Q?
(a) None
(b) One
(c) Four
(d) Two
(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
The number of boxes placed between P and S 
is same as the number of boxes placed 
between ___ and R?
(a) M
(b) Q
(c) N
(d) T
(e) O



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
The number of boxes placed above of the box 
O is same as the number of boxes placed 
below to the box?
(a) R
(b) Q
(c) P
(d) T
(e) None of these



Eight boxes i.e. M, N, O, P, Q, R, S and T are 
placed one above the another but not 
necessarily in the same order. Three boxes are 
placed between M and T. M is placed either at 
the top most or bottom most position. Box O is 
placed just above to the box N. Box S is placed 
just below to the box T. There are two boxes 
placed between R and S. Not more than two 
boxes placed between M and R. More than 
three boxes placed between O and P.
Four of the following five are alike in a certain 
way and hence they form a group. Which one of 
the following does not belong to that group?
(a) M and Q
(b) P and T
(c) R and S
(d) Q and O
(e) N and Q




